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B.B.A. (Part-I1I) EXAMINATION, 2018
(10+2+3 Pattern) -
(Faculty of Commerce) 1 00 8 02

BACHELOR OF BUSINESS ADMINISTRATION - I1

(Indian Management Thought and Business Leaders)

Time Allowed : Three Hours Maximum Marks : 100
Attempt five questions in all selecting one question from each unit. All questions carry equal marks.

Yol sa7E 1 B UF §9T Fd §U T I F97 8T e & 1§l FE % 3k g B 1
No Supplementary answer-book will be given to any candidate. Hence the candidates should write the answer

precisely in the main answer-book only.
fart off gRenelt &1 YR IaX-Giadhl el ol Sigl | 37 qﬁwﬁfﬁaﬁ%ﬁq%a‘g@qm—gﬁﬁaﬂﬁﬁwwa}?ﬁ?
g '

All the parts of one question should be answered at one place in the answer-book. One complete question should
not be answered at different places in the answer-book. .

1T < v 97 F st ge T fafE ge 3 I0 STR-GRaH § i~ Al W 8 T F T T § W |
BT #/ ;

Write your roll number on question paper before start writing answers of questions.

¥7l % I fora / 7d §¥9 97 T A TR v 7@ |
UNIT -1/ 3T -1

1. (a) Whatdoyoumean by ;Spirituality’ ? Explain the significance of Spiritualized Management.
‘seATTcaehal’ § AT 7 AR € 7 S ToEA o Hece 1 9uiA ity |
OR / 372 '

(b) -What is Patanjali System of ‘Yoga’ ? How it can be useful in developing human personality ?

‘A’ = Teeer Tgfa F R 7 e & i faem i 98 e TR SRt 3 g €2
UNIT - II / 3oRTE - 11
2. (@)  Discuss the various dimensions of ‘Vedic Management’,
“afes yelvA' 3 fafvm st =9 fademn wifm)
OR / 31u=n

(b)  State in brief the guidelines and principles of Bhagavad Gita which may be useful for Modern
Managers ?

it e & et - Fre ot vl o e 4 o o i o o wlera 5 for 3
B THd B

302 1 : P.T.O.
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(a)

b)

(a)

(®)

(a)

(b)

UNI'T - 111 / 32RTS - 111

Deseribe the ‘Divine Principles of Vivekananda' that applies to Management.

way % fag @ 20 el e & Sfeer fagid’ 5 avi Fifem -
OR / 3teren

Discuss the important Concept and Ideology propounded by Gandhi.

e wr wfamfaa weeet Yaheumsil vd fammemet = au F3ifs

UNIT - IV / 3&TS - IV
Discuss the contribution of JRD Tata in making India a global economy.
A 1 Tk Sfvaeh sdferawe oM # LR EL 2Rl % ANIGH 1 9uid FHifdy |

OR / 1=t
Write a note on ‘Management Lessons.by Dhirubhai Ambani’.

"HTEuTE ST BT < T yeiyehia firen’ w ue o fafam
UNIT - V/ 3ehTE - V
Discuss the ‘Leadership Style of Narayana Murthy’.
T Hfd okt e Wt S == A |
OR / Agat
Explain the Ideologies of Bharti Enterprises.

TR TR femera e s |

-00 o-
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15L.BA. (Part - 11T) EXAMINATION, 2018

{17 Q4
(1042+% Pattern) =W
(Faculty of Commerce)
BACHIELOR OF BUSINESS ADMINISTRATION-IV
[Cost and Management Accounting]
Time Allowed : Three Hours Maximum Marks : 100

Attempl five questions in all sclec Linﬂ One question /rom each unit,

YT §HTE W G §eT 0 5 5T 9 79 7 7
No supplementary answer-book will be given to any candzdaze Hence the candidates should write the answer
precisely in the main answer-book only.

fett oft et o) Qo STR-YheenT 7l & ) o Wi # wEd G geT Sat-giad 4 & gua 5vl & 5w
g

All the parts of one question should be answered at one place in the answer-book. One compleie question should
not be answered at different places in the answer-book.

Tt o T gv & sria 8 Y ffi gl & I, Se-gfien 4 o7erT-37erT Tl W gl B & aoid U & @ T

BT He !
Write your roll number on question paper before start writing answers of questions.

¥ & I Rre @ g A9 W 0T TR v o |

UNIT -1/3ehE - 1

1.  What is the meaning of Cost Accounting ? Difference between Financial Accounting and Cost §+12
Accounting. '

T e o e o1 § 2 fadig ol wd A a W ST IRy
OR. / 37erel

If a worker took 60 hours for which standard time is 75 hours then what will be his income in Halsey
plan and Rowan plan ? His hoﬁrly wages rates is ¥ 15 and he receives 50% bonus of his:time saved
under Halsey plan. He gets T 12 per day for D.A. (dearness allowance) on hourly basis.' There are
8 working hours in a day. 10+10

ofe U A 75 U T WHTY THT % T T 60 S T 1 T T o § A1 36 TR 8 T 9 e
TR o SATE AT GIM 7 SHehT Ul Sve] FR1gd € 15 € TR Tt W § 39 o= 18 &1 o 50% & e S
HeGt Tt 31 30 YR € 12 W st +f Rt wel ¥ amym R e ¥ T R H 8 6w A B

UNIT - 11 / ST - II

2, Define Overhead. Give their classification and explain fixed and variable Costs. 4+6+10
e ) AT AT | SuRerdl o it R e T 3 TR Sl @ R @ aneE |
OR / 3tgranr
304 i G el T.O.
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e b ' 7 .
AT 1R s .;‘ USRS Al coutiag Wl minion pcivatlishle velated s 7 Commodity for the year ending 20
1REET

(8} 7 % \ ¢ : a
EE 0 ) g A RATR AT R T R e 4 e foi-fofad s oA A 7 E

h_ A o ¢
R A T T T
Hiw Mulerin 24,464

0 |"H|Hg|u:{l Produce, (3200 1o11)

“\‘\'l \\\ R I 10,0000 Wil i l'rnhtrvmg 1.1,2017 b, 260
tond, Wites nnd Ls e gl el e

Waorke Overhend LLOMIWarle in Progress 135,12.20]17 17,600
sty il L etory I.gl’t'h;:“'l-/irsinn 8,500

b W 34y . AT SLALa T U

-.E\\\ Nt ooy R Mutiorin) '«'.',‘A!““” ““I“’L{l‘l’lﬂf’_’f"‘ l'l'l)lll“,'i,) 3’29}200

Funshed Product (HGO0 (o @ ¥ MO0 e Lon)

;l‘ g U\{N head annormtod o 76 i per Lon sold 40,600 tonnes Commodity were produced during
W peviad,

Calewdate
IR RN O >
Q) Value of Raw Material used

It gl w5 e
@) Cost of Production

ERIESRSING
@i Cost of goods sald

Tt v 1t

(v)  Gross Profit

REIN AR
(v)  Net profit for the period

37afY =l g A
(vi) Net profit on per ton sales

wid < fosha o 35 oy

UNIT - III / T8 - 111
The following figures are given to you : 4x5
Year Sales Profit / Loss

2015-16 1,00,000 10,000 (Loss)
2016-17 2,560,000 20,000 (Profit)
Calculate :

TUE] FHtfe
(1) P/V Ratio
ERIEIE LRI
1)) B.EP
wafa=sg fag
(ui) Variable cost of each year
Yeh ol aftEr=eiel o
(iv) Sales to earn a profit ¥ 40,000 and
Z 40,000 1 N it w3 &g Foeht
(v)  Margin of safety at a profit of ¥ 2,000
% 2,000 T T GLEr Hhm

OR / 3t
i : jectives of onent necounhing
[oxphnin Lhoe meaning, seope and objectives of managoment ned !

|l

sy el i otd, @ TR WY
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UNI'T -1V /gewnd - v

A\ l‘\m e Mand low .\‘ln‘lmnm\l 7 Why i it prepared ? Briefly o
this slatewent, o .

xplain any one method of preparing

4+6+10

< © 3 ke 3 X Y 2, W - .
e el forereon s &7 Qe St fen s 2 g oo 7 S w0 A o e = E=—y

OR / 3reqar

following is Tyradine s o [
Following 1s the Trading and Profit and Loss Account of Laxmi Traders for the year ending  2p

318 March, 2017.
T ool & 31 W, 2017 1 7 IR wE ey, 'l @ e

Trading and Profit and Loss Account
for the year ending 31" March 2017

Particulars i Particulars 4

To Opening Stock 1,10,000|By Sales 6,50,000

To Purchases 4,00,000(By Closing Stock 1,60,000

To Carriage 10,000 8,10,000
To Wages 1,00,000
To Gross Profit c/f 1,90,000
8,10,000

To Administrative Exp. 60,000{By Gross Profit b/f 1,90,000

To Interest 3,000|By non-operating Income 10,000
To Selling Dis‘tribution Exp. 10,000
To an-Operating Exp. 7,000
To Net Profit 1,20,000

_ 2,00,000] _ 2,00,000

From the above information, calculate the followings ratio

IR el % SR W ST i T R

(i)  Gross Profit Ratio

kel T4 3T
(i) Net Operating Profit Ratio  —
Y i T ST
(iii) Operating Ratio
TR ST
(iv) Administrative Expensive Ratio
JaTeh o ST
(v)  Selling and Distribution Expensive Ratio
(vi) Net Profit Ratio
s T AT

UNIT -V /3T - V
Define Cost of Capital. What is its practical utility ?
et 1 e et R s | T STEIRE YA 1 ?

OR / 31dl
Explain the nature and concept of Capital Budgeting.
ot a1 Wi @ fagr e |
~-00o0-

10+10

10+10
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B.B.A. (Part-1) EXAMINATION, 2018
(10+2+3 Pattern)

(I'aculty of Commerce) 1 O l 1 9 1

BACHELOR OF BUSINESS ADMINISTRATION - I

(Business and Management)

Time Allowed : Three Hours Maximum Marks : 100
Note : Write your roll number on question paper before start writing answers of questions.

39t y & IR o @ JvA-77 T A7 T 37 o1 |
Attempt all five questions in all selecting one question from each unit.

g 55T § © U O T T FA §Y ol Wi Fe 8 1 €

No supplementary answer-book will be given to any candidate. Hence the candidates should write

the answer precisely in the main answer-book only.

ﬁm?Wuﬁ&nﬁwwm—yﬁﬁwvﬁﬁm#ﬂ/m:WMM#W#%WW—W#’B?W
yol % SR ford |

All the parts of one question should be answered at one place in the answer-book. One complete

question should not be answered at different places in the answer-book.

et 57 7 57 3 ST Y@ T T Y 3 SR, S-GRe H STer-S7er] WA R E FA A

T% & T WA B/
UNIT -1/3&T0 -1
1.  Business is a game of risk. Explain in brief its characteristics and importance.
“WWW@E%I"W%@W@W##@ﬁW@I
= OR / 3teral
Define Company. Discuss its characteristics. 5+15

ot ) afefig AR EeR fardas i i Hifs)
UNIT - 11 / 3ohTg - 11

2. Discuss the Functional Areas of Management in brief.

wat % frarcrs & @l 9arg # aasd |

5+7+8

OR / 3tar
Explain the principles of Management Propounded by Henri Fayol. 20
St v g efen W % Rl wEEed |
UNIT - 11 / 3ehT§ - 111

Explain the Components or Elements of planning in brief.

foriTem 3 @ o1 GH] Bl WA T A |
OR / Agar
Techniques or Methods of Decision-Making. 20

/ﬁ);\ ceribe the various
 \ feftrt ant farfir ceiiohl i 71 farfirl =1 A HIfTg |

.3 101 1 P.T.O.
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Wi UNIT -1V /gamd - 1V
vhat 13 organisation ® Nee w16
Vhat 1s rg;m\tdtmn ? Describe the principles of organisation nlh
. 1S9 == ?? S ¥ famr b Fifang

7 A OR / 3terr '
[ Erphasis on essentials of effective Co-ordination. Discuss the principlen of Co-ordination.

LIRS TR ¥ e oy s e % frgr w v s

UNIT -V / §&TE - V
. fienti f Human
5. Discuss ettential elements of a Sound Motivation System and explain the claasificntion o i
Betes SRS A FE
. N X o i1 l
@@aﬁmmxwm@mnw st
QR / 3e@r
Explain the Nature and Process of Control.

s S vl G SRR F S|

16410

10410

-00 o-
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B.B.A. (Pt.-I)
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Busi.Comu.-I11

B.B.A. (Part-I) EXAMINATION, 2018
(10+2+43 Pattern)
101172

(Faculty of Commerce)

BACHELOR OT' BUSINESS ADMINISTRATION - I1
(Business Communication)
Maximum Marka : 100

Time Allowed : Three Hours
{ztempt any five questions in all selecting one question from each unit.

v e T 8 U W7 FT 997 39 §Y 7 WA F¥ 6 A &
Ao & N ; . , )

No supplementary answer-book will be given to any candidate. Hence the candidates should write the ansuers
precisely in the main answer-book only.
AUl the parts of one question should be answered at one place in the answer-book. One complete question should
not be answered at different places in the answer-book.
77 7 Qe SUL-GIaH 76l &) A | S Penfela % =T fir & g SR~ 7 8 A g % 37

T=7 &7 9UE
ferg !

7%;«77'°~:’r@m%mz@wﬁfwwﬁ'%mm—gﬁwﬁmmwﬁwwmﬁmmﬁmw

FT =/

Write your roll number on question paper before start writing answers of questions.

;ﬁ'%ﬁ?%@##gﬁmvﬁwﬁammi‘a@'/

UNIT -1/3T3 -1

ibe the principles of Effective Communication. 5+15

Define Effective Communication. Descr
oy FYwO 1 aRId HIT et TER 3 fagal &1 au STl
OR/ALAT

I

nding from onz person to another”.
5+15

ation and understa
1s steps of Communication Process.

T R Wl < e 1 fardrer T 3R

“Communication is the process of passing inform
Discuss this statement and Elucidate the variou

“w@mﬁﬁ@qﬂaﬁawwaﬁﬁmﬁ
mm%ﬁfﬂﬁmﬁzﬁrmaﬁmt
UNIT - 11 / 3aT8 - 11

5+15

Explain Non-verbal Communication and its classification,

ﬁz—ma‘aﬂamwﬁ?mmaﬂhmf .
OR/31eraT
etail of them. 5+15

o

he Medias of Communication ? Give a brief d

What are t
) o %2 <! ik w2l

e 3 G (HifS

1 P.T.0.[
102 , | / | ]
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UNIT - 1/ 3anrd - 11

What are the various Barriers to Communication 7 Also explain the remedies to overcome them.
TuR ¥ f5hm amdus Fa R 7 welne &) apnsil @ guan) & 3ur off we wifs )
O R/t
Write short notes on any two of the following
(8  Semantic Barriers
()  Physical Barriers
© Socto-Psyehological Barriers
@  Wrong choice of Medium
e el Q W wla fooft S :
(@) STl =) S
o SifeE s
© WS- S
@ T HIeEH W g
UNIT - IV / 318 - IV

Describe the common errors in communications and use of a language with suitable examples.

TSR TS W61 & WA § g aredt a1 Ffedh = SeRw wfed el HI |
OR/27eal

Explain the uses of various types of tenses with suitable examples.

i el 3 STAT 1 ST ST Wfed T HIfT |

UNIT -V /3ehTg - V

What is Effective Listening ? Wh

Listening.

Fraqel Fe 1 Bl € 2 T TEd T AW e 3 SR el i fFawe !
OR /31l

Write explanatory notes on any two of the following :

(a) Types of Business Letter
() Interview

(¢c)  Report Writing

(d) Public Speaking

= foreet @ W e feomh fafa
(a) oA A AR
(b) TRIEHR

(o wiaaed e
@ g s

-00o-

6-+1b

10+10

20

20

at is its Importance ? Elucidate essential elements of Effective

5+5+10

10+10

Scanned with CamScanner
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B.B.A. (Part-I) EXAMINATION, 2018
(10+2+3 Pattern) 101 141

(Faculty of Commerce)
BACHELOR OF BUSINESS ADMINISTRATION-III

(Legal Aspects of Indian Business)

Time Allowed : Three Hours Maximum Marks : 100

Attempt any five question in all selecting one question from each unit.

. ¢ TE% 3R H @ U J97 FA §Y T e §T 6T HT &1
No supplementary answer-book will be given to any candidate. Hence the candidates should write the answer
precisely in the main answer-book only.
All the parts of one question should be answered at one place in the answer-book. One complete question should

not be answered at different places in the answer-book. .

el oft wheel % qe G- gRawE 7} @ G o el ) SIRT S g S g 1 e g % I
fere 1

foreit ot waF 7w & syl 48 7 =T gl & S, SR-RaeT B ST~ € W gl HX & S T 6l T W
]

Write your roll number on question paper before start writing answers of questions.

W%WW@Q#W—WWWWWW/

UNIT -1/3ets -1
1. Define consideration. State the characteristics of valid consideration. &) 5+15
et & R A | Ay SRl % W& o Seerd e |
OR/ 3gal
20
Describe the methods of discharge of a contract. :
Ty Tt wht faferdf @1 vl it |
UNIT - II / 3aTg - 11
2. Define contract of guarantee. Explain the distinction between a contract of indemnity and a contract s
of guarantee. @
TRUS} STgEY i R e | STPREN ST T TR Ty A ST W i |
OR/ 3TAAT
5+15
Define Agency. How isit terminated ?
T 1 aRr S | 7% g YT I <l S TRl § ?
P.T.O.

103 1
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UNIT - I11 / S8 - 111

Define a contract of sale of goods. Distinguish between a sale and an agreement to sell. 5+15
T fasra argeryl R R Hifed | ‘g o ' fashd o Sgta’ T 3T SqdR |
OR/ 31T
Describe the rights and duties of the buyer and seller in connection to the performance of contract of
5+5+5+5

sale.
ﬁmm%ﬁw%mﬁmamﬁmaﬁ%ﬁwﬁ@mmmﬁml

UNIT - IV / EaTg - IV

What is negotiable instrument ? What are its essential elements ? Describe the various parties of
: 4+6+10

Negotiable Instrument.

3 T T EE AR fefrm e e ¥l Tereh a1 Foream & S |

fafma wre foei@ =0

OR/ 3T
Define a bill of exchange. Differentiate between bill of exchange and promissory note. 5+15
fafr foe =1 qRefia FIE | fafirrer foret @i wfergn o & SR denEd |

UNIT -V /378 - V | .

What do you mean by a company promoter ? Discuss fully his duties and liabilities. 4+9+7
T ) e e 47 < o el 8 e

OR/ 3Yal . @

20

te entity with a perpetual succession

“A company is an artificial person created by law, having a separa
e characteristics of a company-

and common seal.” Discuss the above statement and explain th

o % T T e ot T #1 g o

ﬁrﬁmw%awquﬁﬂaéﬁ%l"?ﬁ%ﬁﬁmﬁﬁﬁaﬂn@mﬁmaﬁ@l
-00 o-
2
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BBA (Part-I) EXAMINATION, 2018
(10+2+3 Pattern)

(Faculty of Commerce)

BACHELOR OF BUSINESS ADMINISTRATION - IV

(Business Economics)

101242

Time Allowed : Three Hours Maximum Marks : 100

Attempt any five questions in all selecting one question from each unit.

I 5 1 @ U W7 %1 999 1 §U FT 99§97 6 A &
No supplementary answer book will be given to any candidate. Hence the candidates should write the answers
precisely in the main answer book only. '

All the parts of one question should be answered at one place in the

not be answered at different places in the answer book.

foredt sif STl F1 T 308 —gfqenT 781 & S| S WWMWW##Q@WWW@@WW@T
o

g/

answer book. One complete question should

T3 fafer=1 7ol & S5, m—gﬁv&wﬁm—mzzﬁwmﬁ#éﬁm@ﬁmw

Write your roll number on question paper before start writing answers of questions.

yﬁ%mﬁaﬁéﬁﬁ—wwﬁammﬁ@/

UNIT -1/3&E -1

1. Define Business Economics and discuss its importance. 5+15
SAIF ammﬁmﬁmam@mﬁﬁmml
OR / 3T
Discuss briefly theory of consumer’s surplus. Also discuss importance of theory of consumer’s Surplus.10+m
ST 7 3 fagr @ ga 7 ferdrere s Suvira e 3 foaT & e eﬂmﬁﬁm
UNIT - 11 / ga§ - 11
2. Define Indifference Curve. Discuss characteristics of Indifference Curve. 4+16
Zeredd 9 1 A BTl mmﬁﬁmﬁﬁﬁéﬂmr ‘
OR / Adl
Whaf do you mean by Demand Forecasting ? Discuss methods of Demand Forecasting. 4+16
q?nq:rﬁqﬁnwaﬁ{ma? uﬁmqﬁﬁﬁfuﬁﬁﬁéwml
P.T.O.

104
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UNIT - 111 /318 - 111

What is Perfect Competition ? How price 18 determined under Perfect Competition ? 4+16

ot et e 7 g Wi syt ype fay weme fviifa A 82

OR /3t

What is Oligopoly ? How price 18 determined under Oligopoly ? 4+16

SR o ¥ 2 e 3 awa e e wn fifa g e

UNIT - IV /g8 - IV

Explain Ricardian theory of Rent. Compare Ricardian theory of Rent with Modern theory of Rent. 1248

Tt & o fagra # fad= S ﬁm@i%wmﬁﬁw%ﬁmgﬁzﬁmﬂwml

OR / 3U>AT
Critically examine the Marginal Productivity Theory of Wages. 20
et 3 TR SeceRdl T Bl S i it | )

7 / UNIT -V / 3 - _/f/ _’

Defi;xé i\iational Income. Explain the relatidﬁ/’sii-lif)ﬂbetween National Income and Economic
Development. 8+12
T A g e Wm@ﬁ%ﬁm%ﬁuﬁﬁaﬂﬁﬁm

OR / YAl )

20

Discuss the General theory of Employment as propounded by J M. Keynes.

é.@.#mmuﬁmﬁﬂmé?wmﬁﬁéﬂml

-00o0-
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This question paper contains 4 printed pages. Roll No. . / _S P / MO
B.B.A. (Pt.-1 '
( ) I'ina. Ace.-V

B.B.A. (Part-T) EXAMINATION, 2018 1
(10+2+3 Pattern) 100672

(Faculty of Commerce)

BACHELOR OF BUSINESS ADMINISTRATION - V

(Financial Accounting)
Time Allowed : Three Hours Maximum Marks : 100

Attempt any five questions in all selecting one question from each unit.
TR)% I ¥ O TF JvT F 997 94 §U el U W §T B ¢/
No Supplementary answer-book will be given to any candidate. Hence the candidates should write the answer

precisely in the main answer-book only.
All the parts of one question should be answered at one place in the answer-book. One complete question should

not be answered at different places in the answer-book.

forel? ot Rieelt @) e STR-gRaw el & S | ST WWM#W##Q@WW#@WW%W

@ |

Frgt «ft U T F STl g T i 3 % S, m—g@wﬁwmwﬁwwwﬁ#wwﬁmw
g H/

Write your roll number on question paper before start writing answers of questions.

o 3 TR fore @ 7 T~ W et TR 37 ferd |
UNIT -1 /33 - I

7

1./"'/‘ Explain the various Accounting concepts and conventions. 20
S T Fafi STaUROTE qe TR e |
- - OR/ Agar
Post the following transactions d'izectly into Ledger and prepare Trial Balance : 20
2017 3 -7

April 1 Gautam started business with cash 2,00,000
April 2 Goods purchased from Mahendra 12,000
Z/Xpril 12 Goods sold to Narendra 15,000
/April 16  Wages paid 26,000
April 18 Goods purchased for cash 20,000
Adpril 22 Goods sold for cash 15,000
/April 97  Received from Narendra — 12,000
461&1 98  Paid to Mahendra 10,000
April 30 Purchased stationery 2,000

P.T.O.
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Frafatan e ) wrmad § W@ s qen e S
2017 2

3@ 1 am 3 AFT A FTur ywey fa 2,00,000

3w 2 T W W w4 e 12,000
A2 AGR W Wi A 16,000
SNA16 WG TS 26,000
A8 A T A Y 20,000
@22 T W AR fawa 15,000
A7 R | TR WK gU 12,000
YT 28 TER I PTAH foRd | 10,000 ?
IUA30 WD wle 2,000

UNIT - I / S8 - 11

On 15t April, 2015 Amarchand purchased five machines fow each. Depreciation at the rate

of 10% p.a. on initial cost has been charged from Proﬁt -and Loss Account and credited to provision

for Depreciation Account. On 1% April, 2016 one machme @as sold for 50,000 and on 1%t Ap

2017 a second machine was sold for ¥ 50,000. An 1mproved model which costs < 1,00, 000 » was
purchased on 15t Qctober, 2016. Amarchand closes his books on 315t March each year. r. You are
requlred to prepare : - e T¥6+7

(i) Machinery Account -
(i) Machinery Disposal Account A ’ ‘ 3
(iii) Provision for Depreciation Account <

1 215K, 2015 1 TR 7 T 60,000 Wk i Ui HEH a1 1 | FRIESTEH T W 10 Wi wierer & fewmer
| 5 T A0 B B R Y T e i 3 fer ST wn H s A S e (1 9T 2016 % T W
%50,000 % 3= a2 1 278 2017 1 THY WA 50,000 H SI<T | 1 STHSR, 2016 ) T T Hrew R
AR 1,00,000 27 72 FoRelT 77271 | ST 7O S Qteh TRars 31 TTel oh oG Sitdll € | 3TTTehi (R el
%Z

G  HEEQ @
(i) R fewdsTer T
(i) B % o ST

OR / AYgar
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o LT

Explain th
3 e followi ‘
g adju
stments with ;
8 with jour i
nal entries in final
: accounts :

i‘ﬁu 1 i_- o =1
A e - N o AxH=20 Com
, _ Sl St whafret wii we Fifa
@) Outstandmg Expenses ) s
EEpIi
@) Prepaid Expenses "
Tiea =
(iii))  Accrued Income CRAT“OW
( ERISGEC o)
(iv) Unearned Income
R Iufsia ey
qu,estioﬂ's
V) Closing Stock
Hfm Wi
the can
UNIT - 111 / 3oT§ - 111 _
What do you understand by Income and Expenditure Account ? How is it different from Receipts FAT
and Payments Account ? 6+14=20
3T T =T @ Y ST G © 2 1 e e e & T e o w2 e
OR / AUl
-37eT

As a consequence of a fire, the dislocation period of business was four months. Consequential Loss 20

Policy was taken for 60,000. Sales of ¥ 40,000 was achieved during the dislocation period out

which Z 16,000 was achieved from another pre_l—ilises hired for this period ata monihly rent of X 400.

There was a saving of insured standing chargeg@ T 200 p.m. dur'm'g this peribd. Sales during the

same period in the immediately accounting year, was amounted to T r%ﬁg_,{g(l()_ During the cu:rrent &
year, an upward tre nd of 10% preceding in sales is noticed in the business. Sales during the twelve

months ended just before the date of fire amounted to Z 4,00,000. Using the following further

information extracted from the preceding accounting year’s Prc;ﬁt and Loss Account. Calculate the

amount of claim for consequential loss :

Sales  3,60,000; Net Profit % 40,000; Standing charges< 40,000 (Out of which T 8,000 being uninsured). :
aﬁ?#wm%ﬁwﬁmmﬁmﬁxwmﬁﬁ | afome @i S 60,000 % fE¢ =M S

s7afl 1 € 40,000 I Torh T sﬁtfmﬁ@r?16,oooﬂﬁaﬁwmﬁ%muoommﬁmi‘aﬁnﬁ
wwﬁsmmﬂagéeﬂl maﬂuﬁaﬁﬁaﬁmaﬁﬁnoomﬁaﬁwgﬁ\ fireat o T R
waﬁuﬁil,zo,oooaﬁﬁ%ﬁgaﬁl <1y & i fereht & 10%%3@#@@3@%{@1@\ 3
ﬁﬁfﬁﬁaﬁmuﬁﬁmnﬁﬁfﬁﬁaﬁu,oo,oooeﬂ\ fw@laﬁ%ﬁwm‘m@ﬁﬁmﬁﬂmwﬁ
mgﬁmmg@@ﬂﬁ%aﬁﬁﬂﬁmaﬁm: _

fod 23,60 000; G @ X 40,000; TR 57 T 40,000 (femi 8% 8,000 3 Al 1 S TG AT |

3 P.1.0.
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UNIT - IV / ST - IV

A company, whose authorised capital is T 5,00,000 and which is divided into 50,000 shares of ¥ 10

each, issues all its shares payable as follows :

T 3 on Application (including ¥ 1 as premium) (/
T 3 on Allotment (including ¥ 1 as premium)

T 3 on First call

T 3 on Second call

The whole of the amount on shares is received from time to time except on 200 shares on which First
call and on 500 shares on which Second call (these 500 shares were included 200 shares on which

First call money was not received).

The above 500 shares are forfeited by the Board of Directors of the company of which 400
shares (these include 200 shares on First call money was not received) are re-issued at< 7 per share

as fully paid.

Give Journal entries and prepare Forfeited Shares Account, Securities Premium Account and Balance

Sheet of the company.

T T, e afugd 9ot  5,00,000 ¥ 1 T 10 9T 50,000 ¥ H fafa §, et wwed siw it

Fa s R @R T

3 3 M- % W (% 1 Tifiaw wfed);
T 39 W (% 1 Hifraw wfed);

% 3 W A W 3R

7 3 fgd@ |9 W A

THE S U G- T I W @ W €, e 200 Sl T W | 3 qen 500 3 W A @ W E (3

3§ 200 37w wimfem 3, 5 W werm wi At ik v e g o) )

ST 500 3197 1 FHEAT 3 HHIEE AvSH g ol fera s € o 40031'51' (3T § 200 3w Giwfed

& For e T TR I T g8 o) W < 7 Wi i o & ot e v R e o e
et 3 whaftet Fafae aen 79 R @, Wit Wi g a w6 g e |
' OR / 3terar

i
State the various methods of redemption of debentures.

m%@%ﬂqﬁﬁfwﬁﬁﬁfﬁm|

UNIT -V /S&TE -V
Discuss the Provisionsof Companies Act, 2013 regarding Managerial Remuneration.

ey TG % gy FEE sifufEm, 2013 % WOHH @l HEAE |

OR / 3tan

What is meant by Capitalisation of Profits ? Give Journal Entries regarding Capital Bonus.

1% 35 Yol B e s ¥ 2 ol S wer s e G

-000-

20

20

5+156=20

Scanned with CamScanner



s questi » / Y3 <
This question paper contains 2 printed pages. Roll No......22.0.... =

B.B.A. (Pt.-]) Comp. Fund. - VI
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B.B.A. (Part-I) EXAMINATION, 2018
(104243 Pattern)

(Faculty of Commerce) l D O 9 5 3
BACHELOR OI' BUSINESS ADMINISTRATION - VI

[Computer Fundamentals]
(Theory)
Time Allowed : Two Hours Maximum Marks : 40
Write your roll number on question paper before start writing answers of questions.
Tl % S @ & Y9 §¥-U9 W AT TR 3799 g |
Attempt any five questions in all selecting one question from each unit.
T 597 § § UF 97 FX0 §U FF U9 §97 8T e &1

No supplementary answer-book will be given to any candidate. Hence the candidates should write the answer
precisely in the main answer-book only.

Tt o TIETeT F1 i STH-iaa! el o T | 37d: el i T o 3 T ST-JRaFT § & A FeA & SR
@ k ’
All the parts of one question should be answered at one place in the answer-book. One complete question should
not be answered at different places in the answer-book.

fat 4 T g7 & 7=7d §& T4 faf=1 J % SR, ITR-JRawHl H SToRT- 37T T T &7 Y7 & qi1d U &1 &7 T
g &/

Unit -1 /38 -1

1. (a) Distinguish between LAN and WAN. 4
A 47 T2d (LAN) 3 oIUeh 8 Heash (WAN) & o9 i@ Fifsr |
(b)  Write a note on secondary storage devices. 4
T Werm Iyl | T e fafan
OR / 3ar .
2. (a) Whatis CPU? Explain basic four functions of CPU. 4
TR, P02 WA F, % g TR wrEl w5 e |
(b)  Differentiate between system software and application software. 4

foren Gl o Tferhy Tieder & i ofa Hif |
Unit - 11/ g&Tg - I1

3. (a)  Write syntax and usability of following DOS commands. 4
1) MKDIR (i) Type (iii)  Copycon
frfafeaa < waigq Ft g @ iR Iwhfi fafag |
@i MKDIR @ii)) Type @iii)) Copycon
(b)  Write short note on WinZip and its uses. : 4
ferfsTa (WinZip) 31 $8e 7l W o Wit e fafew )

OR / ategarn

106 1 : P.T.O.

Scanned with CamScanner



o

-3
.

10.

106

(a)

(b)

What 18 windows explorer 2 Write some important features of it
faea e v 82 g weed fadmand fefia
Write short notes on sean disk and acreen saver,

w9 feww Al wnts dau v ey e fufia)

Unit - 1117 gard - 111

Write all the steps required for ereating mail merge document.

6 B [WIEH 791 F O anavra a) wo fafaa

OR / 3tq@r
Write the use of following in MS Word :
()  Find and replace (i) Page margins
(1) Header and footer (iv) Thesaurus
@R, 52 ¥ frefafea = swm fad
1) & IR wiaerd (i) Y I
(i) TSI FH Gv) fumi@
Unit-1V/ S8 -1V
(a) Whatiscell ? Explain different types of cell referencing.
o #7182 fafi= R & o Whien =1 gwed)|
(b) Explain 4 statistical and 4 financial functions of MS Excel.
TH.TE. T % 4 Fifersia 3R 4 fadta wel & auia wifsd )
OR/ C‘HW
(a) What is database ? Write name and uses of any 4 dat;a types of MS Access.
TR 1T 2, THOE, T F R oft 4 TR & e F AW iR 3w 9 fafemw)
(b)  Write all the steps required to generate query on existing database. :

Explain the uses of different types of operators available in C Programming language.

TE 220 W T (query) T HTI ¥ oI sy gt SOl 1 fefa

Unit-V/ 3@Tg -V

1 g v 3 3uare fafim YR & et & wE ol aegmei |

(a)

(b)

OR / 3tuar

Write a C Program to check whether any person is eligible for vote casting i.e. age of the

person is greater than 18 or not.

Wamﬁ%ﬁqﬁmmﬁﬁﬁéwﬁﬂﬁhaﬂﬁw#fmﬁw%m@mmﬁaaﬁm

18 | arfurer & 41 =7 |
Differentiate between Unions and Structures.
il iR GETiel & g 3w Fifd |

-00o0-
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